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[CHILD DEVELOPMENT & PEDAGOGY i
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1.

Which one is not correct ?

(A) Development is a life-long
process

(B) Development always takes
place uniformily

(C) Developmentis individualistic
(D) Development does not stop at-

maturation

Which process is the motivation ?
(A) Mental

(B) Physical

(C) Emotional

(D) Social

What type of questions should the

teacher ask to identify creative
children ?

(A) Divergentthinking ,
(B) Diagnostic

(C) Covergent thinking
(D) ,Activity based
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(SET-A)
veinon wane 1o wadd iN A p;ob;n
child ?
(A) Lack of interest in study
(B) Mentally unstable

(C) Lack of adjustment

(D) . All of the above

Which one is associated with
‘Disckessia’ ?

(A) Reading disorder

(B) Mentaldisorder

(C) Hearing'impaired

(D) Behavioural disorder

When did the integrated education

‘programme start in India ?

(A) 1950 to 1960
(B) 1961 to 1970
(C) 19711t0 1980
(D) 1981 to 1990

In a motivated learning situation the
learner :

(A) Becomes interested to ask
questions

(B) Memorises the lesson by
cramming

(C) Prepares himself for the exami-
nation

(D) His memorization and

forgetting becomes equal

(Continued)
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8. Q6dQl Todl 699 gRIaQ JRiIe ? 8. What type of evaluation is the

A) entrance test ?
: NGNS
(A) Summative
(B) 60QRe : ]
(B) Diagnostic
(F) S0RIaR (C) Formative )

(D) vegie (D) Placement

9. 624§ 6qlIf9 A8 LR d9 9.  Which one is not a free response

6% ? type question ?
gﬁ({ 9 TR6RR| 696015 SIQ YIel (A) How many gases are released
@EQ ? | by a tree during day tim;a; ?
(B) <o QIdy 6as | (B) Write the functions of leaf.
(C) @2 agedIdel 6nd | ' (C) Write the use of water.
(D) 691N QPP FUR LI FAS| (D) Explain how a piece of stick
el | can be used.

10. QIS IR QIIRE AT AURYER 6969 10. When did multi-lingual education

died cQIREmI ? programme start in our state ?
(}a/ 2005 — 2006 (A) 2005 — 2006
(B) 2006 — 2007 (B) 2006 —2007 '
(C) 2007 —2008 (C) 2007 —2008
(D) 2008 —2009 (D) 2008 — 2009

JA-1AM07 - ' (4) (Continued)
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According to 2011 Census of our
country what is the literacy rate of

women ?

(A) 60.46
(B) 60.64
(C) 6546
(D) 75.46

Which of the following is not
related to child-centred teaching and

learning ?
(A) Emphasis on learning

experience

(B) Emphasis on holistic develop-

ment
(C) Emphasis on self-learning

(D) Emphasis on class-room

teaching

Which one is not an evaluation

tool ?

(A) Checklist

(B) Rating scale
(C) Progress Card

(D) Home task

(Continued)



6QRG
(A)
(B)
(C)

o

6N

dRIFE I6R 6QATR FEL ?
AR ACAGR

eI QIR

delie 8Qad

gfie Q°6l0

6eQd 2d gef dsae sai@ie
Q62 ?

(?) g8

(B) Qdal

(C) <IN

(D) gede

dslgia ora 2919 Ade 99

QMG ?

A ralolale)

(B) <a@eIa

(C) adeaaa

(D) <eglo

17. 6096

@)

R QIYY YREGQEI ?

A o

2ie] AeIV

(C) aige

(D) g QR

JA-1A/107

(6)

14.

15.

16.

1%,

;“

OTET - P-I/17(1st)

Which one is not a step in experi-

mental léarning ?

A)
®)
©

(D)

Sensing the problem
Defining the problem

Drawing conclusion

Construction of knowledge

Which one is not a step of

meaningful learning ?

(A)
(B)
(©)

(D)

Engagement
Explanation

[llustration

Demonstration

Which of the following is

related to the learner’s hand-

writing ?

(A)
(B)
(©)

(D)

Maturation
Family
Environment

Peer-groups

Which one is the extrinsic motivation ?

(A)
(B)
(©)
(D)

Punishment
Self-satisfaction
Interest

Self-esteem
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18. Which is not a nature of learning ?

(A) Purpose

(B) Limited to Age

(C) Active

(D) Universal

Which one is not correct ?
(A) Showing impartial attitude

towards the children

(B)

Praising a child before other

children |’

(C) Not comparing a child before

other children

(D) Not giving maximum scope to

the child

“Learning is the modification of
behaviour through experience and

training.” Who stated it ?
(A) Hilgard |

(B) Skinner

(C) Cavlin

(D) Gates
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Which of the following is not a
continuc_aus process?

(A) Motivation

(B) Learningﬁ

(C) Development

(D) Growth

Which of the following is both
qualitative and quantitative i

(A) Study

(B) Experimentation i
(C) Evaluation

(D) Observation

By which process does the growth of |

the individual take place ?
(A) Social

(B) Biological

(C) Educational

(D) Continuous

Which one is related with the assimi-

lation of Piaget's cognitive develop-
ment ?

(A) Self-cognition
(B) Accommodation
(C) Imagination

(D) Peréeption

(Continued)
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25. €96 “Cephalocaudal” 9916 Qg 25. Which one refers to “Cephalocaudal’

development ?

(A) From centre to head

(B) From head to toe

(C) From centre to periphery

(D) Allofthe above

I
I
I
_ 26. Which method is suitable to identify
]
I
I

the gifted learners ?
(A) Intelligence Test

(B) Teachers observation

(C) ge1 aeas (C) Achievement Test

(D) Allofthe above

_ 27. Who was the propounder of

(A) 6915 obsrvational learning ?
(A) Gates
(B) iga
(B) Bandura

(C) Skinner

(D) MIGER (D) Cavlin

JA - 1A/107 (9) (Continued)
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Which principle is not associated

with growth and development ?

(A) Principle of continuity

(B) Principle of cohtiguity

(C) Principle of in’;egration

(D) Principle of segregation
Which is not a feature of special
education ? LY

(A) Special school for specific dis-

abled learners

(B) Special educators for teaching

disabled learners

(C) Each class should consist of

atleast 20 learners

(D) Provision for vocational training
for such learners

Which is not a Recognition type tesf ?

(A) Trueand False

(B) Sentence completion

(C) Matching

(D) Muiltiple choice
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l L —ENGLISH J

61. Pick out the grammatically
acceptable sentence :
(A) Alas, the poor man is dead.
(B) Alas the poor man is dead !
§>)/ Alas | The poor man is dead.
(D) Alas, The poor man is dead.
62. The French army
defeated at Waterioo.
(A) is
(B) are
( ’ was
(D) were
63. Hurry up | We late for
school.
(A) were getting
(B) get
éZ)/ are getting
(D) got
64. Which one of the following sentences
is acceptable ?
(A) ,Hedidn’t never go to school.
M Never he goes to school.
(C) He never goes to school.
(D) He goes to school never.
JA - 14;/1 07

65.

Pick out the error part of the

sentence :

The call of the seas have always found

[ W)

66.

67.

68.

(36)

(B (B)

an echo in him.

©) (D)

Identify the grammatically acceptable

sentence :

(A) He gave some informations.
(B) He gave me aninformation.
(C) He gave aninformation to me.

(9) He gave me some information.

What time is the news

T.V.?
(A) in
(B) with

(C) on

/) at
t_—___ whenlgotup.

was raining
(B) israining
(C) rains

(D) willrain

(Continued)
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69. Many Indians demand to boycott 72. The productive skills of a language

goods. are
(A) Chinese electronic beautiful i d writi &
. (A) reading and writing lﬂ B
(B) electronic beautiful Chinese p’ listening and speaking
:(2)/beautiful Chinese electronic (C) reading and speaking

(D) electronic Chinese beautiful (D) speaking and writing

e 73. The use of punctuation is a subskill

person.Heis . . S.P .
A
e !32":{ (A) listening
@ an

(B) speaking
(C) the

(C) reading

(D) some
(D/writing

71. A child studying in Class V says, ‘I

2 o 74. Formative assessments are
- drinked water.

. ) ‘conducted
It indicates that the child...........

Il th h '
()J has not learnt grammar rules (A) allthrough the course

properly. (B) atthe beginning of alesson
(B) should memorize the correct m the end of the term
sentence. (D) atthe end of the session

o g~ e 75. Continuous comprehensive evaluation

making past tense verbs show- _
emphasizes

ing that his learning is taking
(A) process evaluation
place.

term-end evaluation
(D) is careless and should be (B) term-endevalu

taught to be conscious of its -(C) product evaluation
errors. p/—summative evaluation

JA — 1A/107 " (37) | (Continued)
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- SET-A
76. Learning of English in India as a The above writing activity.in the box

second language has been so im- {s sliing o
portant since
(A) guided writing
(A) - English is a foreign language.

Ii ifi
(B) .-English is an international (B) paraliel writing

language. (C) controlled writing
(C) People speaking English are g))/"free writing
highly honoured.

79. | Sarvesh is about forty five / and his
(D) Indiais a multi-lingual country. :

-hair / is starting to go grey /

77. Onafour-lined hand-writing paper, all

Readi ording to the division of
the capital letters and the numbers el L R

are written in _ the above sentence in the box is
(A) lowerthree lines ' called

@/ " upper two lines (A) word reading

(C) upperthreelines (B),Phrase reading

D) middle two lines
i ! (C) chunkreading

78. Activity : Fill in the blanks in the (D) clause reading

following letter.

80. The pronunciation of the word ‘take’

Dear y
We _____ our holidays in Qoty is
verymuch. Usuallywe______ for (A) [tak/
k . Th
long walks everyday. The scenery _9)/ -
marvellous. —
(C) [taek/
Wish, you were here.

JA—-1A/6Y (38) (Continued)




Direction (Q. Nos. 81 to 85) : Read the
passage carefully and answer the
questions choosing the correct

alternatives given below.

When | was a boy, | liked swimming
very much. One year'my two brothers and |
spent the summer holidays with my uncle
and aunt in their house by the sea. It was
only t\i\ﬁe_nty/ya_gs_ﬁgm the water. Every day
we put on our swimming suit before
breakfast, ran down to the sea across the
s’z_zlfn’cﬁg_d_jgmw in. From then until
evening we were in the sea or on the beach
most of the time. When our aunt rang a bell,
we went back to the house for food. After

food we were back in the sea.

The water was warm, the sun shone
every day, and most of the days there were
no waves. In the middle of the day a wind
always began to blow but it was not strong

enough. So it did not make the sea rough.

81. The three boys liked very
much.
(A) playing on the sand
(B) boating on the sea

JA - 1A/107

82.

83.

84.

(39)

OTET - P-l/17(1st)
SET-A
QZ_( swimming in the sea :

(D) cyclingdownthe hill

One year they' spent .their

with their uncle. '
(A) Christmas holidays
(B) winter holidays

(?{ summer holidays

(D) school holidays

They put on their swimming suit

(A) afterlunch
(B) after breakfast

Qy—before breakfast

(D) aftertea

When their aunt rang a bell, they went

to the house for
(A) sleep
(B) study

4€7 food

(D) swimming suit

(Continued)
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85. The word ‘rough’ has been used in

the given passage. Its opposite is

(A) violent
gB)/ ~ calm
(C) strong

(D) dangerous

Direction (Q. Nos. 86 to 90) : Read the
passage carefully and answer the
questions choosing the correct altematives

given below.

The ostrich is the largest of all birds.
Itis found in the grassland areas of Africa.

it eats fruits, leaves and seeds.

An ostrich has wings but cannot fly.
Instead, it runs very fast. It can run at a

speed of eighty kilometres an hour.

Ostrich feathers are soft because they
are not needed for flying. Unlike other birds,

the ostrich has only two toes on each leg.

'86. Ostrich is very popular beacuse

(A)  itcan'trun very fast
(B) itcanfly very high
(C) itis seen all over the world

SJJ) it is the largest of all birds

JA - 1AM107

(40)

RETR, e e gy D L ST

OTET - P-I117(1st)

87. An ostrich cannot fly because

}A)/ its feathers are soft

(B) its wings are not strong
(C) its eyes are small

(D) its body is heavy

- 88. Ostriches run at a speed of about

an hour.
(A) 180 kilometres
(B) 18 kilometres

() 80 kilometres

(D) 88 kilometres

89. Ostriches are found in

areas.

(A) dryland

BJ grassland
(C) wetland

(D) highland

980. Avegetarianeats
,(k)/fruit, leaves and seeds
(B) chicken, mutton, prawn
(C) blood, flesh, bone

(D) eggq, fish, meat

(Continued)
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S&ie
MATHEMATICS
91. 69aC 68eR gea I°aFe ged ? 91. Which one is not related to the
(A) @dael nature of Mathematics ?
(B) oaage (A) Exactness
il (B) Specific sequence
C D@ 2
w 73 (C) Expanded expression
(D) ’Q Q'QQI (D) Pattem
92. ganegan Qaq dgieq Aol aden 92. Which one is the correct order in the
IOy 9RRR 6266 0'Q AT-IeegeeR - sub-unit of number identification ?
0 a% ? (A) Writing Number, Counting
- Number and Order of the
(A) Gyl @SR, A°GlYl Qsie G 4 G4 Number
¢l (B) Writing Number, Order of the
(B) QEIINER, A°HIQ @4 G Number and Counting Number
QU S99 (C) Order of the Number, Writing
. S i the Number and Counting the
(C) QsNIQ 9a, A AR, @ Lyl Niirber
G'_ém (D) Counting the Number, Writing
(D) Qs GER, U AUR 6 AR . the Number and Order of the
Gel ; . = Number
93. 9dio JVQINR R TNTER URISQ 93. " In which method in teaching Math-
' RIQUIQY F66 AYAR 621Q2IN ? ematics one proceeds from unknown
A zicale to known ?
(A) Inductive
(B) @seaqia (B) Deductive
(C) <reqaa (C) Synthesis
}p)/ Q6gae (D) Analysis
13193 QaaIQ 2] / SPACE FOR ROUGH WORK
JA-1A/107 (41) (Continued)



94. 6QeE I0cQIPR aucaidiel a°ade

Q62 ?
(A) d9°, §94 699y I°dLea
Q6e0R 228
(B) =g g e d8a Q6o 98-
aes
(/cyﬁﬂtaﬁmm daaee gd ge
adqia efgae -
(D) dsidiieca 484 RUAQY VI
AIeee 9Agd '
F6ATES F1960 GO TFTIAIRS
326 QfiQIp 69ad J6aa ags ?
(A) % acisa
8 2002 aoisd
(C) dsagael aaIsd
(D) 88eS <43ae adicess
cee aedea ¢ 9fde Ffaag
PRI A AETR QAAQY QARIL
QRUAIQARG ?
(A) zosaIe
LBy zisqie
(C) Ssqad
" (D) <eqaa

94.

95.

OTET - P417(1st)

Which one is not connected with the

usibility of the lesson plan ? '

(A) Teacherbecomes aware ofthe
leamning objectives

(B) Leamner, understands the pre-
determined learning objectives

(C) Pre-requisites of content
knowledge of the learner is
tested

(D) The achievements of the
leamer is evaluated

According to experts which one is
most appropriate to identify the gifted

" leamer?

(A) Intelligent Test

(B) Achievement Test

(C) Aptitude Test

(D) Personal Observation of the
teacher

In which method are the mathemafical
problems solved using pre-
established rules ?

(A) Deductive
(B) Inductive
(C) Analysis

(D) Synthesis

JA-1A/107

Qg IAAIQ 2I! / SPACE FOR ROUGH WORK
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97. Which is the correct order of
teaching Mathematics ?

(A) 69w, gRUIae, B 6 geald (A) Understanding, Evaluation,
: ’ Knowledge and Application

(B) =@, geaig, 69RI B GRUISR (B) Knowiledge, Application,
Understanding and Evaluation

(C) gRuIgR, geais, 6o G BIQ (C) Evaluation, Application, Under-
standing and Knowledge
p)/ﬁiﬁ, 691, gedid G Fuiae (D) Knowledge, Understanding,
Application and Evaluation

97. €Raf Jde QIR aceaia 0] /A ?

T~ < ?
98. 62u¢ AdicIVER 6ER ZUCT 7 98  Whithicheldinusotdl fion 7

W . ciodge Baee (A) Standardised Test
(B) 6a5°6aQ (B) Rating Scale
Sy agieia (C) Interview

(D) ag9e | (D) Questionnaire

99. G&e qRAI0Y AR QIS 6AT 99. Which one is different from

Ga 7 the co-scholastic point of view in
g Mathematics?
(A) <de o |
(A) Mathematics Fair
B) ade
(B) | gee (B) Mathematics Quiz
Gy Gde QR (C) Mathematics Club
(D) cdeges (D) Mathematics Project

Qg QIAAIQ 29 / SPACE FOR ROUGH WORK

JA - 1AM107 (43) (Continued)



100. “60lIc QIR Q7Y 6RIEQ ARG
AR 626R Y2l 699 gRIa 899 77’
42| 609 gIa g9 ?

(A) <2dqg
(B) Q<Ieadee
/,Z( QSRR
(D) Q#e Fdaae
2 ' '
101. 207, 2*? q 660 qa ?

A T IRY:

(B) 4

[/
b
D) 1
102. 9% g Q : . ; Q6! ISl R6R, AGTR

199, 6062 a Q AR 6R6Q 7

DTET - P-I1M7(1st)

100. “The measure of all the angles of a

101.

102.

triangle are equal, then what type of
triangle is it ? " What type of ques-
tion is it ? - '
(A) Multiple choice

(B) Recognition type

(C) Recalltype

(D) Analogy type

2(32) is how many times of (23)2 ?
(A) 8

(B) 4

C) 2

(D) 1

B s a+7 y
If = is divided by ——, the quotient
9 y Gk eq

is 1, what is the value of ‘a’ ?

(A) 18
(A) 18 A a’[‘(')ﬂ
=" g (B) 22
(B) 22 Wt
(©r =18 do. 4§ 3 (C) -18
Mg Th T D) —22
l@gﬂ;@ By =
QT RUFYIQ DIR / SPACE FOR ROUGH WORK
JA - 1A/107 (44) (Continued)



103. §¢ 0g-1 @f 2INeERQ 2IgHa §lea ot

Qoea 644y 26 6d. §. 6 ¢d
16 6Q. &. | Y2IQ gL @91Q 3 6<. {.
@1d QIp 398 9 2I98a QTS HEAIR
QIS FUGR | 2T QUGS HAQ 69T
cHIRIgY gQl 2I8eas 29fa aIg
(92-2 @@) gge eaigal | 9@ aIg
@@sa QI ¢IR AIPQ RS 6960 AR

6d. §1. 629 ?

(S 3
(B) 496 '@g /
™
(C) 500 @a
(D) 600

OTET - P-l/17(1st)

103. A rectangular sheet of card board,

shown below in Fig.-1 is 26 cm long
and 16 cm broad. Squares, each of
3 cm edge, has been removed from
each corner of the paper sheet. An
open cuboidal tray, as shown in
Fig.-2, was made using the remain-
ing sheet of card board. What is the
volume of the open space, ir cubic

cm. available in the tray ?

L]

Fig.-1 Fig.-2

(A) 396
(B) 496
(C) 500

(D) 600

JA-1AM107

QT LIFAIRQ YIF / SPACE FOR ROUGH WORK

(45)
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104.399 99 6QE6ER, 964 UG QA

Qe RIPAIA, TR, QI 8 g
AIQ6a € QY UL 9AAIEY
QdIgIRg | 9§ €TQAIRT AIAER
IT6cRIQYQA UG 9l 8 AR
FId6Q IF 6QAAR! IR TNER TSN
6 QIR 94, 6969 APAN B AR
QR 6RIYQN UIA 6916 TR 660

OTET — P-/17(1st)

104. The following bar graph shows the

quantity of paddy sold in the month
of January, February, March and
April. If the difference between
quantities of paddy sold in February
and April is 6 quintals, then what is
the total quantity of paddy sold in

Qe ? F e January and March in quintal ?

A (&fi’ Z- s
4
K B i e s o s ettt o e . A [ T SRR N .
= % © //
& T / 3 1 /
Iy N, 7, L -
I BiEA
sttm 0 7 |iim ] 7
s g \Eiay v
iRV
STA N 9 A | AU A D,

= B ro 5. 5 =
® e ?’ 7" Month—s

A4 (A) 14

(B) 16 B) 16

{C) 22 ©€) 22

D) 24 - (D) 24 |

Qg QAR GIF / SPACE FOR ROUGH WORK

JA—1A107 (46) (Continued)
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105. 2,5, 10, 17, 26, _ ; 105. 2,5,10,17.26, " -
20Qd QY QAR Y gRYaIe What are the three numbers fo be
Beaitea cod QI aPeq, QA% 09 placed in blank space left in the
6o ? sequence of numbers given above to
make the sequence correct ?
(AY” 38,50,65
(A) 38,50,65
. (B) 37,52,65
' (B) 37,52,65
(C) 37,50,64
(C) 37.50,64
(D) 37,50,65
(D) 37,50,65

106. 601G 09RPa AIHILAIRG CAITRER »
; gaieg 64 106. How many triangles can be

c@60IC @ge ARaRe ? obtained by joining the vertices of a
A 5 : quadrilateral ?
. A 5
ore
: B 6
(C) 8 : © 8
(D) 10 - - (D) 10

Qg QIA9IQ 919 / SPACE FOR ROUGH WORK

JA—1A/107 (47) - (Contiued)



107. 6915 Qd2IgE Jda AFeIa geqie

QR 6344 54 @. | ¥QIF 9IQ QIR
626099 MG ¥2Ia SR 3 4.
UIRER gaaI@ cdIRIdR | 9F
eGoIa 60T QdQ ¢4 62T RIAY
- 2RR 29, 6969 6FICER 6R60IT ¢
caIRIde ?
(A)
(B)
(©)

B

64
68
72

76

108. @66l 6QIRIQ1 8C 24l TIRIL ERCAG

6960 QIF 690 F&i6m, 6 G a8l AIRIS
6QIONG 690@ QIFER IFEM | 6069
TR FORP| CHEQ AN 2R ?

(A) 333%

(@5 33%%
Ws%%

(D) 355%

— —t

b'
3

OTET - P-I/17(1st)

107. Each edge of a garden of square

108.

shape is 54m long. In order to
surround it by wire netting, pillars are
to be raised at iﬁtervals of 3m. Ifthe
raising of pillars starts from a corner
of the garden, what will be the

number of pillars necessary ?
(A) 64
(B) 68
(C) 72
(D) 76

A shopkeeper sold 6 cold-drink
bottles at his cost price of 8. What
percentage of profit he made ?

(A) 33%%

B) 33%%

(C) 353%

(D) 355%

JA - 1A/107

QT LIFAIQ Y / SPACE FOR ROUGH WORK
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109. 69189 FQuIRG6q, 2015 daleden
6916 2IR9IG1 Q@4 160 26R | IaQa!
@s&me‘eé, 2191 A°¢Y! 20 98I 6 219
Q@Y 20 9GAQ ¥E 2d 219 AW,
G LHIQ 7 G 62q! | 6662 2015
Jaiedeq a9 IR SIQ1 AW
26TA BIQ S 6ICS AR A ?
(A) 100

(B) 90

o

(D) 70
110. 16 &8 162.8. od 9Ig 33e e92bda
| QTR COQ 60TR ATER ssaq@@a HIeg
IR RGIR OF 6515 29 9d 2IgS AR

QUSRI | 692 9 FGLQ TAAICN 660

OTET - P-I1M7(1st)

109. In a school, the total number of

110.

students was 160 in the year 2015.
In the foliowing year, the number of
girls decreased by 20 and the
number of boys increased by 20. As
a result, the number of boys became

7 fimes the number of girls. During

2015, the number of boys was how
much more than the number
of girls ? \

(A) 100

(B) 90

(C) 80

(D) 70

16 number of square sheets of
paper each of 1 cm edge were kept
adjacent to each other on a table to

form a bigger square. What is the

6. §. 2 perimeter of the bigger square incm. ?
| ~AT 8 S <
B) 12 (B) 12
WG (C) 16
D) '32 (D) 32
Qe QAAIR IR / SPACE FOR ROUGH WORK |
I
JA - 1A/107 (49) (Continued)




1

112.

8960 OFIQ 25%, 180 e8I 123%
ae QIR ZEG 7

(A) T120

B). T18

{C) T80

e

(D)% 90

6alIeN 2Ige én@@ 35e 699 R4y
80 foa 6 g4 60 dea | YaIa §oa
ToeR 6adY goIRgQl 691G uIa
ge gelaeel g@ad uIeg AId 2 e
@a{m@ QUL TR €RIRE | QU
ERQTR 6RE0 QR ?

@A) 392

(B) 380
@ 202

{D) 280

THL

T1E

OTET - P-lI17(1st)

25% of what sum of money is equal

to 123% of T180 ?
(A} T120

(B) 275

(C) %80

(D) %90

The length of a rectangular field is
80 m and breadth is 60 m. Aroad of
@idth 2 i is constructed inside the
field adjoining one side representing
its length and two sides represent-
ing its breadtn. What is the area of

the road in square metre ?
(A) 392
(B) 380

(C) 292

(D) 280

JA -

QT QIF1AIQ AIY / SPACE FOR ROUGH WORK

1A/107
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113.

114.

66T 2ILEAR 2igh A3 P4 &0ea
6Gdl, g9 6 aeel KaIgea 2 &., 1.5
¢. 8 1 foa | 9aF 999d 2696
6929 500 ACQ PR RIP 676R, BT
6R60 AT AR FLEQA Q&S ?

A 0

(A) 100 P Q,y]-ﬁ(\
(B) 2000 3
(9@00

(D) 1500

%49, 6 am 68 FRAQ Q1A A1’ AIIE
Feg Qg ad K, gass 99
3 Q. 25 &. oI’'aca 65g6a 4 4. 15 &.
6 SQI6a 40 a6 QIR 71 A6a LBl |
Q3 QIS QIFQ BLIR AMGIE FUER
6Q 6Ql€IT A7 QE QG @ &, 6069

6d 6960696% AI¢] A6a AL ?

o
(A) 3.20pm %

(B) 3.15pm

Mzopm

(D) 9AIRE CRIQ 6QNEAT Q6L

OTET - P-I/17{1st)
SET-A |

113. The length, breadth and height of the

114.

inner space of a cuboidal tank are
2m., 1.5m., and 1 m. respectively. If
a quantity of 500 litres of water is
taken out of it while it was full to the
brim, then how many litres of water
willbe leftinit?

(A) 1000

(B) 2000

(C) 2500

(D) 1500

At 6 am, Satyajit started his journey
from his house to his Uncle’s house.
Firstly he made his journey by a bus
for 3 hours 25 minutes, then he made
his journey in a train for 4 hrs 15 min
and lastly he made a journey by a
rickshaw which took him 40 min and
he reached his Uncle’s house. At
what time did he reach his Uncle's
house if he did not waste any time
while changing the vehicles ?

(A) 3.20pm
(B) 3.15pm
(C) 2.20pm
(D) None of these

JA -

QT QAR ! / SPACE FOR ROUGH WORK

1A/107

(51)
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115. 4@ 6A<Q Fooa ade 626 Y210 SIga 115. Ifthe length of the side of a rhombus
6O Qe Qsie €eeq, <@Ia 9208 is equal to the length of its smaller
Lol i diagonal, then what is the measure
wivin Do RIS SHR of its angle of I'arger magnitude ?
(A) 30° | Ay 30°
(B) 45° (B) 45°
(C) 60° (C) 60°
Oy 120° (D) 120°
116. 60& Q61T 11 QIou SQUY ? 116. Wh‘ich number is divisible by 11 ?
(A) 2864423 (A) 2864423
(B) 2863423 (B) 2863423
@@:‘423 (C) 2865423
(D) 2853423 (D) 2853423
17. 1@ 29 adis 9918 2gq 968 MR | 117, Whatis the sum of all the odd natural
- BRISTR 6QEQ 629 ? numbers from 10 29 ?
(A)225 (A) 225
(B) 237 (B) 237
(C) 239 (C) 239
(D) 240 (D) 240
QT LIFAIQ FIY / SPACE FOR ROUGH WOP'”
JA - 1A/107 (Continued)
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118. 9876 Q°EIT6Q 22U 9 @ YNGR @ 118. What is the difference between the

geo qlea g99d 9e° 7a gietadio 6 sum of the place value and real value
of 9 and the sum of the place value

and real value of 7 in 9876 ?

geedIna An8 A6 Alday 6969 ?

) e (A) 8932
(B) 8392 (B) 8392
(C) 8931 (C) 8931
(D) 8391 (D) 8391

1109. 14,21 3 24 9 ‘2["%1'-“6161:‘21!:(51*:7 119. The HCF of 14, 21 and anocther

9Q° 6P @ : Al : g : 210 626M, number is 7 and their LCM is 210.
QO1E A°HIT 66D ? Thenwhat is the third number ?

(A) 25 (A) 25 |

(B) 28 (B) 28

(Y35 (C) 35

(D) 105 (D) 105

120. 398 6006 1.023 o atkas QE1 266" ? 120. Which of the following is the rational

307 1023 form of 1.023 ?
w3 oL 1023
® 300 P s00 307 1023
W 300 ®) 300
o 308 1021
© 300 ©) 500 o 308 o 1021
©) 300 ®) 300

QT RAYUIQ FI! / SPACE FOR ROUGH WORK

JA-1A/107 (83) (Continued)
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121,

122.

123.

OTET - P-I/17 (1st)

[

ARERE QIR

| ENVIRONMENTAL SCIENCE

69Q €996Q ARG gosal ana

goIae Qidy @°aIde 6LIQaN ?

(A) 9GQI2I6a FQ4e IR Ql-
CRER

(B) @-2I2Q AVOR 9FIE6Q INE
GIRYRCRER

(C) QISR oedy 2 dARIARI-
6Q6R

W@ﬂ c2RRdeR Qi Queg
QQENCIER

6086 87 694198 ?

By~ Qg€ of

(B) 9912 @

(C) €QQgug a@

(D) QRINES 9f

609 @9 g67Q 9R0I K| &A1Y
adis PEREQ 9% T4l AN J4uIa 29

—

Q@ ?

(A) qlIg 9¢

(B) g 9e

(G 626gAQ 9M

(D) @6ana 99

JA-1A/1T7

(54)

121.

122.

123.

In which casé, positive work is done
with least resistance ?

(A) Whilethereis electfic currentin
| a cohductor

(B) While a ball is rolling on a
herizontal levelied floor

(C) While aripe fruit is falling from
atree

(D)

While a helicopter is rising up

from the ground

Which one belongs to a different

class ?
(A)
(B)
(C)
(D)

Frictional force
Magnetic force
Static electric force

Gravitational force

On which day sun-set does not
occur for 24 hours in the region from

the Arctic Circle to the North Pole 7

(A) March 21
(B)

(®)

June 21
September 23

(D) December 22

(Continued)



124. 9Q6Q4E ZRIGR AURO 9Q TGACEIR
AQUIQ 6RQER F6LIB FUQ FHYos
6006 Qasa daiIRlenda OR ¢Igl fea
QU ?

@,_, A6

(B) adycessdae o2y fdead
(C) LgeIe PaIYReR G180

(D) <QE1R08 aa Seqad

125. QQUIea 219 JIea 691 @IQIF

A6IIRE 26T ?

dne

9)/ J9Q dQIQQIERER A9 6@
géie’a

(B) deaI@gel S909gq argdass
ogaIag

(C) aQIUIagel 99994y 6%
QEIRR

(D) 9QIIReel FFALLR UNAIRG
OQeIee 9eIIed

126. 448 A°YRA 696 [FE OQ ?

(AL R1ITY - GIA89 —. 991 —
PR\
(B) QlQIgel — gAR — AL —

g
(C) T — AT — g9 —
S lietalay

(D) g99gq — QA — FART —
Slelaley

JA-1A/107

(35)

OTET - P-I17 (1st)

[ SET-A ]

124. Relating to the study of a phenomenon

125.

126.

of environmental study, mainly on

which one of the following the

degree of correctness of the

inference depends ?

(A)
(B)
(C)
(D)

Observation
Recording the observed data
Classification of collected data

Analysis of classified data

Which ability of a school level learner
is the best ?

The learner :

(A) -

(B)
(C)

(D)

listens attentively while the
teacher is teaching

understands fully all that is
taught

keeps in memory all that is
taught

explains to others correctly all

that is taught

Which is the correct order of
respiratory system ?

(A)

(B)

(©)

(3)

Nasal passage — Trachea —»

Pharynx — Lungs

Nasal passage — Pharynx —
Trachea — Lungs

Nasal passage — Lungs —
Pharynx — Trachea

Lungs — Nasal passage —
rhaiyax — Lungs

(Continued)



127.

128.

128.

TRERIAQ 60 2°F6a HIey 980 621

QeR ?

(B) 999

(B) <&

(C) a@

(P) L

6RR B VRS RN AR ?
(fA)/ -ﬁﬂ qéﬂggqs%r AR QEQ

(B) &4 Q9 QcElig 42060 ¢ad K6a

(C) B4 aRua F0IFI9g GRQ @4 QIE

(D) Q4 2gel gaow K6

6Qa% OR g6% ?

(A) 98 FRQ 910196 9898
QR86a QURR ddlacn @488
AU 29

(B) e &4 olgfiglea dads

QQdea 219 dalasn 2968

UO0Rde 29

NP 9098 996 W8T @6 SI2I

g

(D)

2afge g9
4@ 20892 @94 IOIRsR olel

gtgs g4

JA-1A/107

(56)

-(B)

OTET - P-I117 (1st)

127. In which part of cauliflower is food

stored ?
(A) Inflorescence
(B) Stem
(C) Fruit

(D) Root

128. Who is scientific aptitude based

person ?

(A) Who analyses threadbare

Who accepts all events easily
(©)

Who does not give importance
to others opinion

(D)

Who argues unnecessarily

129. Which one is not correct ?

(A) Ata particular temperature on
adding solvent in a saturated
solution, it becomes unsaturated

(B) Ata particular temperature on

adding solute to a saturated

solution, it becomes super-
saturated

(C) On heating a saturated solution,

it becomes unsaturated

(D)

On boiling an unsaturated

solution, it becomes saturated

(Continued)




(i)

(ii)

JORINRRRR 671IS ARG L°FHI
d2 Q9Iegeea 6dls el
I

JoRINRgeea 6alg 2g Al

q2 QQIPYLeR 6Clic 2 Ayl

BLlIS AQFllg] QB A2 Q-

Jeea geoie 6dlaea 6dle

(A) (i) 6 (i) O <& (i) @@

(B) (i) 6 (jii) O ¥e° (i) ga

(C) (i) @ (iii) O) g (i) @

- (i), (i) <" (iii) O

/(B)/ aqsed gede «aql

(C) dRedx gadl 6aQl

JA -1A/107
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130. In case of a balanced chemical

131.

equation :

(i)

(iii)

The total number of atoms ofthe
reactants should be equaltothe
total numbers of atoms of the

products

The total number of molecules
of the reactants should be
equal to the total number of

molecules of the products

The total number of atoms of
each element of the reactants
should be equal to the total
number of atoms of each

element of the products

Qut of the above :

(A)

(B)

(€)

(D)

(i) and (ii) are correct and
(iii) is wrong
(if) and (iii) are correct and
(i) is wrong
(i) and (iii) are correct and
(i) is wrong

(i), (ii) and (iii) are correct

Which is not the aim of environment

study ?

(A)
(B)
(©)
(D)

To analyse environment
To pollute environment
To protect environment

To identify learning technique

of environment

(Continued)



132. 2IEAIREHISER 699 GHIQ FF0 £9 ?

42! 699 gRIa gg ?
(A) godeae
(B) <0a0@e

}Q)I aFIenhea
(D) Qoo Fdiae

133. 6Q09E 48 gl Sy ?

(A) QIR @ e A9d
(B) egoQla 8 632
(C) 64eAa 8 Sde A&

_{P) 6goaix @ QeIf

134. 6QQ26Q IRLIREL @ &N ?

/@7 AGNIAE 9

' (B) a5 e

(C) Qo9 ea

(D) Gaed
| 135. 6@@& @i - B srz'ﬂ@@‘ 229 S
Q6% ?
(A) QEAFISQ
(B) afede

(C) e IdQ

(?f QUeATY

JA -1AM107

(58)

OTET — P-117 (1st)

132. Which is the gas liberated during
Photosynthesis ? Which type of
question is it ?

(A) Recall type
(B) Selection type

(C) Recognition type
(D) Analogy type

133. Which are energy yielding food ?
(A) Vitamins and minerals
(B) Carbohydrates and fats
(C) Carbohydrates and minerals

(D) Carbohydrates and vitamins

134. Which does not contain enzyme ?
-(A) Pancreatic juice
(B) Saliva of mouth -
(C) Digestive juice
(D) Bile juice
135. Which is not included in Vitamin-B
complex ?
(A) Riboflavin
(B) Folic acid
(C) Ascorbic acid

(D) Biotin

(Continued)




136. 62Q% IO 6LIRRIQ YO 6Tl

o6% ?

A QEHY ARy

137.

138.

139.

(B) @ogiae

C) gRuee

P)/ geside

634160 699 9 2RI a4
QS ? |

A) Q919 aa‘—@a@éi@

gB)/ Q19 29 agdese!

(C) Q19 g8 asenle!

(D) Qogeeel euIdzl

6R9I6Q Qe 97 6 J60e QMR
6QR0I6Q 2190 ?

)ﬁ)/ RUFR
(B) QIedigge
(C) <ece
(D) @il

6919 6228 cgleca 0] QIR
QDR QG RIT ?

(A9 9e edga
(B) @a
(C) 2edd

(D) ¢RIcRagEea 2igd

JA-1A/107
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136.

137.

138.

139.

OTET — P17 (1st)

Which is not a step in lesson
planning’}

(A)
(B)
(C)
(D)

Specific objectives
Presentation
Evaluation

Promotion

Which type of forest has the maxi-
mum area in Odisha ?

(A)
(B)
(©)
(D)

Tropical semi-evergreen
Tropical moist deciduous
Tropical dry deciduous
Coastal Tidal

Where in Odisha are both Sugar and
Cement factories located ?

(A) Hirakud
(B)
(€)
(D)

Rajgangpur
Baragarh
Aska

Which of the following can not be

properly shown on the globe ?
(A) Small land forms
(B)
()

(D)

Direction
Location

Shape of the continents

(Continued)




140.
JFG6Q MR FAULIQANAR ?
(A) <Q69YE
(B) gede
(y QGG
(D) aeigs
141. eolael @I1dy afe 6ead 09
Q6% ?
(A) JER 986 G 98 UYRER CRFIS!
(B) UBGER F:IEQ QIRUIQ QR
(9/ ERES d°68 W69 @ dE
ARNRCIN
(D) 689l ANNER AP YAER TR
142. ARIBR FRIS AI0Q 6N REQY ADQ
6aet a'ge gee ?
(A) 98698 089aRa A0S 24IAS!
®) 2dQ18 6 ceda ged el
°ae Gda @8
(C) IG219e cadl AIRSY AR
=l
(D) [ER 2ERQ JARICAR 6IFER
qlelqy ediagl
JA-1AM07 " "
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140.

141.

142.

OTET - P-I1M7 (1st)

In which method of learning of social

science “zoo” could be used ?
(A)
(B)
(©)
(D)

Survey
Demonstration
Excursion

Experiment

Which is not correct in black board

work ?

(A) Teacher to write down in big
letters clearly

(B) Tomaintain gap between lines

(C) To erase quickly without
reading

(D) To read aloud at the time of

writing

Which is not associated with the
understanding objectives of social
science ?

(A) Showing the cause of changes
in environment

(B) Determining the relations
between the economy and the

progress of the country
(C)
(D)

To draw historical sketch maps
Showing the differences in the

transport sector

(Continued)




143. SR 622 F1EIIER F6RBIE
PRYAIo ULFS ?

A) QSIS
/(B)/ 6RIRIQ
(C) cQexd!
(D) 9eleae

144. 609 209R6Q 910 agsa 98aie
6RIQelN ?

Mﬂ@@
(B) G4l
(C) <=4
D) ARIR

145. QIQPER AFRIS AYIVRFIR] AURY AL
28RI0 Qe Ae6aIe 98Q 69R 62156
0R g6 ?

/GA‘)

(B)

QaI-9d Qe

Y- 2RQYEDE
(©)
D)

Qlel-glqie

PRIRRI-2IRYEE

146. aleeq daa Qe® a9 gaag
RIGIAQIQIAIEH €QR FIRIAIR YoIR
| GQaleR ?
JX geedi
(B) Q@@
(C) aQRI Q&Y

(D) QUFeaQQ Tl A9

JA -1A/107
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FET - P-117 (1st)

143. On which riverbed is the Bai"ehipani

waterfall located ?

(A) The Nagavali
(B) The Kolab
(C) The Baitarani
(D) The Budhabalanga
144. In which coast does rainfall occur
during winter ?
(A) Coromandal
(B) Odisha
(C) Konkan
(D) Malabar
145. Which pair is not correct in relation
to the highest production of
agricultural crops with the
corresponding states in India ?
(A) Cotton — West Bengal
(B) Sugarcane — Uttar Pradesh
(C) Tea-—Assam .
(D) Groundnut - Andhra Pradesh
146. Which idea was popularised by

the early nationalists to promote

Industries in India ?
(A)
(B)
(©)
(D)

Swadeshi
Swabhiman
Laissez-fair

Anti-colonialism

{wontinued)



147. QRFARG C10Q 420 &9 Y FaER ?
(A) sl &l
(BYc1eq@ 2q) &l
(C) 9Qle aaqR
(D) @99 6cedR-AR-IaR
148. QFQI-UICRIRREA A°YE AEQ &9
e eeiqgea ?
(A) ygee Qg
(B) eqigeg Q@

AC) 91909 Qid -
(D) @998 el
149. eﬁ@a UULOR VR VD &4 QIY
Q08 ?
(A) Qeg’d
(B) QuieaR!
(C) <°de
}ﬁ) QA6AIS FYAREG

150. QY 6RINEAQ TICAITR ARIVTT @4
QTR R ?
(A) QUead
&B)/ QUNNIR

(C) QuIeaal

(D) qaaal

OTET - P-IM7 (1st)

147. Who was not associated with the
formation of the Muslim League ?

(A) AghaKhan

(B) Mohammad Ali Jinna
(C) Nawab Salimullah

(D) Nawab Mohasin-ul-Mulk

148. Who was arrested for his involvement

in the Kanika agitation ? -

(A) - Madhusudan Das

(B) Gopabandhu Das

(C) Nilakantha Das

(D) Nabakrushna Chaudhury

149. Who does act as the guardian of the
Fundamentai Right ?

(A) President
(B) Prime Minister
(C) Parliament

(D) Supreme Court

150. Who can remove the Chairman ofthe
State Public Service Commission ?
(A) President
(B) Governor
(C) Prime Minister
(D) Chief Minister

JA -1A/107

(Continued)
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